¢ 10° Bevel .
1 ‘ ii\ﬁf /‘\ o
o " 10"
on ﬂ 3/8
I e
11/2" or 1 916" . T ' '
9 3/8" Dia. 91/4" | 1 kerfson ©: Q :© )
ERONT 73/4" 1 inside of . | |
3/8"» Front 15" — 4" | |
12" (TRES | |
- Lo i e Ladder) Approx | |
1 1/2 v | 5 3/4" | |
234" | | | |
©I I@
~ 51/2" — L e | ——°_
] Drill 1/4" dia. hole 1 §/ " L . .
-~ EJFor bolt tlo)secure || ¥ Floor recessed 1/8"
0x to pole
R ¢ P LEFT SIDE VIEW FRONT VIEW
- F 11/4"
° Van Ert Sparrow Trap
Installation Detail
— FS/S" 4 +—3/8"
1 5"
12 1/4" BACK O ROOF ﬁ
[y G
" =—138" "Bolt —
91/2 T 1/4" Bolt
23/4" o —— .
N = Van Ert
T = sparrow trap
W
34 , 314" ° /
R 21/4 | . (nsideFrony) | [T e
AN ! . :
T Drill (2) 1/8" dia. holes - - @ e
" for wire (pole retainer) ~ Adjust top screw 1/16 RIGHT
5 from wood. Adjust SIDE
bottom screw 1/4" (Door)
from wood. FRONT
@
Note: If using cedar (smooth one side, ®
8 3/4" RIGHT rough one side) assemble box with ° L
SIDE 10" smooth sides facing inside of box. e
M Wire (Pole Retainer)
~— T71/4" — 10° Bevel
T — T E———
[ | o [
5 5/8" 11/4°
10 1/4" LECT ROOF
SIDE " RUUFE "
= 9 10 97/8"
© ]
" 2" 2"
21/2 1/2"
Ly
i ||
/ N
Materials:
" 1 x 6 (3/4" x 5 1/2") x 48" long .
4 FLOOR 1 x 8 (3/4" x 7 1/4") x 10" long Z?PPICk
(14) #8 x 1 1/2" Exterior Wood Screws Bluebird Nestbox
\ 1) 1/4" x 3" Bolt with washer and nut ) - .
4 %1; 116" dia. wire x 8" long designed by Darlene Sillick & Charlie Zepp
1/4" x 1/4" Corner (1) Van Ert Universal Sparrow Trap -
Cuts (for drainage) (2) #8 x 1/2" pan head sheet metal screws Drawn by: Fred Stille ‘ V. 2.0, February 23, 2012 ‘ Page 10of 1




